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miejsce ztamania

Obszar bezpieczny - zaden wazny element nie moze przekraczac tej linii
99 mm




B e e e T [ .
'
'
'
'
'
[l ﬁ :
'
. o > B '
' = ko8 £ '
' 9 ‘o o '
= )
. £ 9 2 .
' =) S - '
' z 2 N '
_ s T - :
' < z X '
R g v '
' BS D N
: £ 5 = :
o .
| c =N g '
' £ 2 2 .
. 2 2 g '
' Q S ]
' a = = '
' st = :
1§ = '
' 2 g
. L = '
' £ 2 .
' ° o £
S0 > '
: 9] c £ '
] b N
o o '
' £ g > '
' =
| =1 - '
' ° < :
z 3 :
. & N '
< > '
' 3 z '
' 2 N '
] ) @ ]
' @ o '
' @ N
' > 2 :
N '
' g = '
Ll N
. k] 3 "
_ 2 S :
. '
'
'
'
'
'
'
'
'
'
'
'
'
. '
'
e e
° \]
A

miejsce ztamania

Obszar bezpieczny - zaden wazny element nie moze przekraczac tej linii
99 mm




